	Revelry Event Designers 3604 Medford St.			IN-0005557			
	Los Angeles, CA 90063 (323) 263-1657			Gabriela Barge 15126 Lincoln			
05/13/2023 09:00 AM EVENT: WEDDING PO: DAY Shipping Address: 05/13/2023 09:00 AM DELIVERY TIME TBD Hotel Del Coronado			Invoice Date: Due Date : Upon Receipt				
05/13/2023 10:00) PM STRIKE TIME TBD	1500 Orange Ave, Coronado, C	A 92118	Salesperson: N	1ilana Ay	yvazova	
Description			Qtty	Price		Total	
General							
	Bars - Boston - Complete (Dval 16' - Metal	1	\$3,350.00	Т	\$3,350.00	
	Garden Bars - Jardin Du Cl 12'	hamp Elysees - Hedge Round	1	\$1,850.00	Т	\$1,850.00	
N u	Dining Table - Beirut - Serp	entine Top 8'	8	\$750.00	Т	\$6,000.00	
	Barback - Boston - Round	W/ Plexiglass Tier Shelves	1	\$315.00	Т	\$315.00	
	Barback - London - Gold M	letal W/ Glass Shelves & Base	2	\$175.00	Т	\$350.00	
	Panels - Hedge Panel 4'x1	0'	57	\$175.00	Т	\$9,975.00	
	Panels - Hedge Panel 4'x8'		17	\$150.00	Т	\$2,550.00	
	Booths - Monaco - Round	White Thin Suede 2pc Set	1	\$550.00	Т	\$550.00	
	Booths - Round Channelec	l Champagne Velvet 2pc Set	1	\$550.00	Т	\$550.00	
	Top Hats - Light Gold Meta	allic Tufted	1	\$550.00	Т	\$550.00	
	Club & Lounge Chairs - Ha Turquoise	mptons - Accent Chair	2	\$125.00	Т	\$250.00	

Description		Qtty	Price		Total
	Sofas - Budapest - Green Velvet	1	\$400.00	Т	\$400.00
	Sofas - Hamptons - Blush 8'	1	\$245.00	Т	\$245.00
	Sofas - Versailles - Multi Seater 10'	1	\$500.00	Т	\$500.00
P P	Sofas - Brussels - Powder Blue W/ Brass Legs	1	\$350.00	Т	\$350.00
Ó	Area Rugs - Distressed Medallion Blush	1	\$175.00	Т	\$175.00
	Area Rugs - Faded Medallion Burnt Orange	1	\$175.00	Т	\$175.00
P	Dining Chairs - Versailles - Cane Back	205	\$22.00	Т	\$4,510.00
	Dining Chairs - Palermo - White	207	\$18.00	Т	\$3,726.00
	Dining Chairs - Washington - Rose Gold Frame	316	\$18.00	Т	\$5,688.00
	Ottomans - Budapest - Green Velvet	2	\$50.00	Т	\$100.00
	Ottomans - Budapest - Yellow Velvet	1	\$50.00	Т	\$50.00
	Ottomans - Hollywood - Light Grey W/ Brass Base	2	\$45.00	Т	\$90.00
			Total Gen	eral	\$42,299.00
CHANDELIER HO	DOKS OPTION(S)				
	Hooks/ Lances/ Hook Boxes - Chandelier Hook 9' 67" W x 111"H - Height from Hook 84"	1	\$95.00	Т	\$95.00

Description		Qtty	Price		Total
	Hooks/ Lances/ Hook Boxes - Chandelier Hook 10' 68" W x 10'H - Height from Hook 101"	1	\$95.00	Т	\$95.00
	Hooks/ Lances/ Hook Boxes - Chandelier Hook 12' 63" W x 152"H - Height from Hook 122"	1	\$95.00	Т	\$95.00
	Hooks/ Lances/ Hook Boxes - Chandelier Hook 13' 63" W x 13'H - Height from Hook 128"	1	\$95.00	Т	\$95.00
	Total CH	ANDELIER	HOOKS OPTION	I(S)	\$380.00
DAY BED OPTIC	DN(S)				
	Daybeds - 8' Square 96"W x 96"L x 18"H - Color Covers Upon Request - Pillows Included	1	\$350.00	Т	\$350.00
	Daybeds - 10' Square 10'W x 10'L x 18"H - Color Cover Upon Request - Pillows Includes	1	\$450.00	Т	\$450.00
	Daybeds - Florence - Natural W/ Nailhead Trim 57"W x 24"L x 27"H	1	\$200.00	Т	\$200.00
-	Daybeds - Versailles - Linen & Burlap 33"W x 69"L x 36"H	1	\$300.00	Т	\$300.00
•		Total D	DAY BED OPTION	I(S)	\$1,300.00
PILLOWS:					
1267	Accent Pillow White Canvas With Yellow Design & White Piping 26" x 13"	1	\$24.00	Т	\$24.00
	Accent Pillow Light Yellow Linen With White Piping 18" x 18" 18" x 18"	2	\$24.00	Т	\$48.00
			Total PILLO	WS:	\$72.00
Services					
	LABOR + DELIVERY TBD	1	\$0.00		\$0.00
Please make che	ecks payable to Revelry, Inc.		Total Produ	cts:	\$44,051.00
lote: Prior to de	liveries and pick-ups all invoices must be pay in full contract and sign it	Total La	abor/Services/M Tax	lisc: (es :	\$0.00 \$4,184.85
Jotes DF Generated on 11/2	9/2022 @ 12:38 PM PST				3 of 4

PDF Generated on 11/29/2022 @ 12:38 PM PST Important Note - We are missing Labor costs (which will be added once

Discounts:	(\$0.00)
Total:	\$48,235.85
Payments:	(\$0.00)
Balance:	\$48,235.85